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The three Hund rules determine the ground state of an atom whose
- ~  configuration is given. These rules dictate that to find the ground state:

1. Choose the maximum value of S consistent with the Pauli principle.

2. Choose the maximum value of L consistent with the Pauli principle -
and rule 1.

3a. If the shell is less than half full, choose J = J,, = |L — S|.

3b. If the shell is morce thar hslf full, choose J = J,,, = L + S.
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1. Transitions can occur only between configurations which differ in the n and !
quantum numbers of a single clectron. This means that two or more electrons cannot ____
simultaneously make transitions between subshells.

2. Transitions can occur only between configurations in which the change in the {
quantum number of that electron satisfies the same restriction that applies to one-
clectron atoms, (8-37)

3. Trapsitions can occur only between states in these configurations for which the
changes in the s/, I, j/ quantum numbers satisfy the restrictions

As' =0
Al'=0, +1 (10-17)
Aj =0, £1 (but notj =0toj =0)
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